DD HAICEBFMA

BICKEGIDOADHIBEEE, VZTRTI T DFm

DFMFEEIRKICEOTEHIVLET.

L=(5-£) x500m)

HEBESZFTH, TOHEED)=ZTRTILYT

fo: BD=HHEDEERY

LIERISITRTEDZFFREA), BIZFIL, R160oKRHEIENTEET.

(A) P P
¢ B
a—»Lb—» a—»
[
(B) P P

l<—a—> b a—
[

15 : #DTHHRE

(A) WiREEXFOES

_Prab
2-E+]

tana = =4.945 x 10-5%

1.0
0.9
fo.s \
a
0.7 \\
0.6 AN
N
05 N
0 02 04 06 08 1.0
tan a
(tan a) max

E16 : 8D7=bHIC K BHZER f,DfE

(B) MiimEEXFHMDEGE

tana =Us - M:uf « 4.945 x 10—5P'a4'b
2:E-] d

d :BAE (nm) E : #EREMERRER 206 x10° (N/md) P : EARE (N)
up : FREEIAMOb ol 17 HE=RE—Ah =2 ()

(tan o) max FEIER D IEYRITLYRHT 5.

0.5

0.4

0.3
Uur

0.2

0.1

0

0.2 0.4 0.6 0.8 1.0
b4

17 : {%%&Ufa)ﬂg

46

®17
BE | (tand)max BE | (tand) e
3 96x107* 16 6.6
4 6.9 20 79
5 8.3 25 47
6 89 30 55
8 6.1 35 4.7
10 8.4 40 52
12 8.6 50 59
13 8.7 60 6.9
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